Chapter 3 Sample Exam (allow 50 minutes)
Name _____________________________

Math 90, Elementary Algebra

1. Graph the following linear equations and find the slope and the x and y intercepts (if they exist). If the intercept doesn’t exist, write NONE.  Make sure that you write the intercepts as ordered pairs (x, y).  
a. 
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slope: __________
x-intercept: ___________
  y-intercept: _____________

b. 
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slope: __________
x-intercept: ___________
  y-intercept: _____________

c. 
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    slope: __________
           x-intercept: ___________
  y-intercept: _____________
2. Find the slope of the line passing through the points 
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 and 
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.  (3 pts)

3. Write the equation of the line containing the point 
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 with slope 
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.  Write it in slope intercept form. (5 pts)
4. Write the equation of the line containing the points 
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. Write it in slope intercept form. (6 pts)

5. Write the equation of the following line.  Write it in slope intercept form. (5 pts)
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6. For the pair of equations, give the slopes of the lines, and then determine whether the two lines are parallel, perpendicular, or neither. (6 pts)
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7. The linear equation 
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approximates food and drink sales y in billions of dollars, where 
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 represents 1970.  

a. Use the equation to approximate food and drink sale for 2011. (2.5 pts)
b. In what year is the food and drink sales worth 376 billion dollars? (2.5 pts)

c. What does the ordered pair (0, 43) mean in the context of this situation? (2 pts)
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